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run_13059007 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 02:17:56 2012

[ ADC for FGT RDO=1 ARM=2,APV=17 | [ ADC for FGT RDO=1,ARM=2,APV=17 |
- 4000
3
=3
Q 3500 RE R - N
<
3000 EE T - N 1
2500 EE T - N
2000 EE T - N
1500 e - e 10%
1000 RE R - N
500 e heeen B | e
0 seposs= SELE geoTjpojreeocosms 102
i
1000 2000 3000 4000 20
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=18 | [ ADC for FGT RDO=1,ARM=2,APV=18 }
L - 4000 p—
2 ; ; . 3 =
5 S =
%) =
4 9 3500 f=
< < =
3000 f/—
= 1
2500 fm—
2000 fm/——
10 =
1500 f=— o
= 10
1000 p=——
2 2 5 =
og 500 f— o
. . . r— .
0 f=— b P
= a a a a a q 10
i i E_. . . i . . . i . . . i . . . i . . . i . . . i .
1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=19 | [ ADC for FGT RDO=1,ARM=2,APV=19 }
- . 4000 p=
3 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —-
S g 3500 =
< < =
3000 = 1
=
2500 =
=
2000 f=
. 000 f=
1500 g 107
1000 P=
=
500 f= -
=
B 10?
=
1000 2000 3000 4000
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=20 | [ ADC for FGT RDO=1,ARM=2,APV=20 |
- 4000 p—
] = . . .
3 = 2 2
Q 3500 f=
< =
3000 =
= 1
2500 =
2000 f=
=
1500 =
= 10"
1000 f=
=
500 =
=
0=
= 2
= 10
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2.APV=21 ] [ ADC for FGT RDO=1,ARM=2,APV=21 }
302 P 4000 - - - - -
[ & =
%) 9] = | (R ) N R A
Q Q 3500 5
< < =
3000 FEE— - - 1= --F-F - -1 HE - 1
: : : 2500 fo— - 4= {{ === F-F -1 1 - H
=
2000 pF— - - {{ - - -} -F - 41 - - -F
=
1500 fE— === 4= -}l 41- 1 - b - -1 10t
=
1000 FF— - - {{- - -t -F - - 1- HF - -k
=
500 fo—- == 4= - F-F- 11t
=
O =11t 171t 10°
i B . . . i . . i . . . i . . . i . . . i .
0 1000 2000 3000 4000 0 2 20 60 80 100 120

raw ADC APV channel




run_13059007 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 02:19:31 2012
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run_13059007 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 02:20:05 2012
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run_13059007 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 02:18:00 2012
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run_13059007 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Tue Feb 28 02:19:32 2012
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run_13059007 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 02:20:06 2012
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run_13059007 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 02:18:01 2012
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run_13059007 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 02:19:32 2012
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run_13059007 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 02:20:06 2012
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run_13059007 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 28 02:18:05 2012
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run_13059007 _FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 02:19:33 2012
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run_13059007 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 02:20:07 2012
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run_13059007 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 02:18:09 2012
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run_13059007 _FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 28 02:19:35 2012
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run_13059007 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 02:20:09 2012
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run_13059007 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Tue Feb 28 02:18:10 2012
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